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Run 16, 5 GeV, high
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Run 16, 5 GeV, low gain

Occupancy plot for layer 0 - plane 4
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Occupancy plot for layer 3 - plane 7
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Run 22, 4 GeV, high

Occupancy plot for layer 0 - plane 4
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Occupancy plot for layer 2 - plane 6

x10°
h
[C | Entries 269683
Mean x 2507
50— |Meany  42.04
[ | Std Dev x 0.4999
C |StdDevy 5.191
40—
30—
20—
mj
C’HHM:.\\HH\HH
0.5 15 25
sector
Occupancy plot for layer 6 - plane 12
x10°
h
Entries 204446
Mean x 2.489
Mean y 40.71
= | Std Devx 0.4999
[C | Std Devy 52

PR AR B ATA AN AR
0.5 15

3.5
sector

pad

pad

Occupancy plot for layer 3 - plane 7
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Run 22, 4 GeV, low gain

Occupancy plot for layer 0 - plane 4 Occupancy plot for layer 1 - plane 5 Occupancy plot for layer 2 - plane 6 Occupancy plot for layer 3 - plane 7
o 3 x10° x10° 5 T
agf[ __h ] 2 gol— h h S e h__ |
[ [Enries 82036 E [Enres 131635 F [Enies 173910 E [Enwies 167643
L | Meanx 2418 C | Mean x 2407 Mean x 2517 L |Meanx 2493
50/ | Meany 39.11 50— | Mean y 421 50— Mean y 42.23 s0l— Meany 42.16
I~ | Std Dev x 0.4932 [~ | Std Devx 0.4912 = Std Devx 0.4997 - | Std Dev x 05
= [StdDevy 9715 [C | Std Devy 4.23 SidDevy 4.032 [C |[StdDevy  3.97
40— 40— 40— 40—
30— 30— 30— 30—
20— 20— 20— 20
10— 10— 10— 10—
O by b 1y O by b 1y O by b 1y O b L 1
o 0.5 5 25 3 o 0.5 5 25 . o 0.5 5 25 . 05 15 25
cantar sector sector sector
Occupancy plot for layer 4 - plane 8 - Occupancy plot for layer 5 - plane 10 Occupancy plot for layer 6 - plane 12 Occupancy plot for layer 7 - plane 14
<
1F = 3 x10° x10° 5
60— e[ h | [ h | S go— h
[ |Entries 166068 [ [Enties 128635 Eniries 103822 [ [Enties 61205
[ |Meanx 2566 E |Meanx 2479 Meanx 2491 F |Meanx 2449
sp[— |Meany - 41.24 sol_ | Meany 419 Meany  40.72 sl | Meany 40.71
[ |StdDevx 04957 F | stdDevx 0.4996 [ | stdDevx 0.4999 [ |stdDevx 0.4974
[ [SdDevy 4036 C |SdDevy 4135 C |SWDevy 4702 C |SdDevy 5.262
40— 40— of
30— 30— 30—
20— 20
10— 10—
) S A ) P AN AP SR IS I AR R 0 AR PRI PRI BRI
0 0.5 1 5 2 35 0 0.5 5 35 0.5 5 25 3 35 0 05 15 35

4 4
sector sector sector sector



Run 32, 3 GeV, high gain
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Run 32, 3 GeV, low gain

Occupancy plot for layer 0 - plane 4

Entries 106882

Meanx 2419
Mean y 35
StdDevx 0.4933

12.67

Std Devy

FEETI I R S S AR R AN AR
o 0.5 15 25 3
Occupancy plot for layer 4 - plane 8
o h
[ | Entries 153700
[ lean x 2577
Nl Mean y 412
- | Std Devx 0.4941
T [StdDevy 4317
ol
0
P N IR S S
0 0.5 15

35

aantor

sector

0%

pad

pad

Occupancy plot for layer 1 - plane 5

C h
O Ieies 138715
L |Meanx 2447
s |Meany 4215
[ | stdDevx 04972
E [sbevy 4362
40—
30—
20—
10—
07\\\\\\||\\\\\\\\\\\
0.5 5 25
sector
Occupancy plot for layer 5 - plane 10
8O s 118367
C [Meanx 2508
s |Meany  ar.92
[ |stdbevx 05
[ |[StdDevy 4.437
40—
30
20—
10—
G_wwww\wnnw\wwww\wwww I I
0 0.5 15 35

sector

x10°

Occupancy plot for layer 2 - plane 6

h
Entries 164675
[ |Meanx 254
sof_|Meany 4222
[ |stdDevx 0.4984
StdDevy 4.204
40
30—
20—
10—
07\\\\\\||\\\\\\\\\\\
0.5 5 25

Occupancy plot for layer 6 - plane 12

x10°

sector

9
g & h
F [Enries 83888
C |Meanx 2511
Meany  40.71
Std Dev x 0.4999
[ | Std Devy 5.091
PN I S AR R BT
0.5 5 35

sector

pad

pad

Occupancy plot for layer 3 - plane 7

60— __h
E [Envies 156727
C [Meanx 2516
sol_ |Meany 4213
E |sdDevx 04808
[ [sdDevy 421
40—
30—
20
10—
O b L 1
05 15 25
sector
Occupancy plot for layer 7 - plane 14
C h
0F [Enwes 57466
O |Meanx 248
sl |Meany 4075
[ |sdDevx 0.49%
[ |SidDevy 5632
40—
30—
20
10—
R I AR
o 05 15 25 3 35

sector



pad

pad

S 8 8 8 3

=]

Run 36, 2 GeV, high

Occupancy plot for layer 0 - plane 4
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Occupancy plot for layer 2 - plane 6
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Run 36, 2 GeV, low gain

Occupancy plot for layer 0 - plane 4
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Run 46, 1 GeV, high gain

Occupancy plot for layer 0 - plane 4 Occupancy plot for layer 1 - plane 5 Occupancy plot for layer 2 - plane 6 Occupancy plot for layer 3 - plane 7
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Run 46, 1 GeV, low gain
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Signal propagation
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Thanks for your attention!
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